est 2

'L?eview 1

vital intangible alighted prepare match
1. The two colours did not go with each other, so an alternative was suggested.

2. They had to get ready for the examinations; they were unable to join the
basket ball team.

3. When the bus came to a stop, all the passengers got down from it.

4.  Thoughts and ideas are without physical shape and are sometimes difficult to
express.

5. Being truthful is necessary to lead an honest life.

similarity returned doubtful avoid obvious
It is evident that he is a thrifty man.
Need we evade the question?
| can see an analogy between the two stories.
His alibi seems dubious.
She reciprocated his friendliness with equal sincerity.

NN

Wordsworth’s The Solitary Reaper is a well-known poem.
He was asked to define efficiency.

Students often confuse sometime and sometimes.

When do the holidays begin? the student asked.

You may pack your books and leave, said the teacher.

o> Dbp =

The accident occurred four years ago crippled him.
The flood last weekend was the worst one in five years took a heavy toll.
Mr. Arif's weight was 70 kilogrammes 154 lbs.

The distance between one town and the other was 400 kilometres
248.5 miles.
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Review Test 3

There aren’t some Swiss watches in this showcase.

Put down your book first and then recite the poem expressively.

The United States of America is one of the richest country in the world.
No mistakes was found in the proof copy.

The house, together with the furnitures, were sold at a good price.

o> Db =

1. Mayl___ down for a while?
The turtles have ___ their eggs in the sand.

He _ the facts before the committee.

N oL D

She__ awake for some time.

5. Thedogmusthave __ on the sofa and spoilt it.
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